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number of unshared electrons A8 jidial) y cilig <) 7195l e

How many pairs of unshared electrons for the nitrogen atom are in the ammonia molecule
NH, ?
?NH3 \7}-1‘540;‘2“céﬁ‘ﬁuﬂéj)m‘z‘)ﬂz\sw\J.LCLL!\J}).\SSZ}“C\)J‘JJQLA

H
3H. + °N » H-P‘!J
H

A1

B.2

C.3

D.4

Chemistry teacher : Sameera Albreiki




number of bonded pairs Adagi yall i g SSY) ) g5 aae

How many bonded pairs of electrons for the nitrogen atom are in the ammonia molecule NH; ?
ENH,  LiseY) scsa 8 Cnn ) 50 ddad sall iy SN ) 550 e La

@

3H. + 'N: — H-N:

A1l

B.2

C.3

D.4

Chemistry teacher : Sameera Albreiki




number of unshared electrons AS jldall e cilig ) ) g dae

How many pairs of unshared electrons for the carbon atom are in the methane molecule CH, ?
$CH, bl esin (A 05 SI 3 A AS ikl jue Gl yiSTY) G\jj Qe L

s
4H + C. — H—C—H
.L
A. 4
B.O
C.2
D.1

Chemistry teacher : Sameera Albreiki




number of bonded pairs Uagi yal) el g S 71950 2

How many bonded pairs of for the carbon atom are in the methane molecule CH, ?
¢ CH, Ol sesn (& e SN 3,0 Al yall i g SIS )53 2ae La

H
4H + C. — HoCH
H
A. 4
B.O
C.2
D.1

Chemistry teacher : Sameera Albreiki




number of unshared electrons AS jldall e cilig ) ) g dae

How many pairs of unshared electrons for the oxygen atom are in the water molecule H,O ?
¢ H,0 slall o5y (o3 (oS 30 A4S jisial) e lig ySIY) g5 2ae L

®

2H. + 'O = H-0:

A1l

B. 2

C.3

D.4

Chemistry teacher : Sameera Albreiki




number of bonded pairs dagi yal) g SN 71950 2

How many bonded pairs of electrons for the oxygen atom are in the water molecule H,O ?
€ H,0 slall eis a8 CaansS¥I 5,3 Aasi yall il g iSIY) 25 5 o L

®

2H. + 0 - H O

A. 1l

B. 2

C.3

D.4

Chemistry teacher : Sameera Albreiki




Diatomic molecule 3,3 ¢ AU

Which of the following elements does NOT exists as a diatomic molecules ?
¢ 5l L.?“u 95}3‘)};4‘;; aa) g Y Al Jm\.\:d\u.og;i

A. Nitrogen ‘N i
B. i arhi r

Sl B z c H_u:__.ls_u
C. Oxygen ' ‘D gy
D. Hydrogen H Cpimy pugd
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sigma (8) and pi () bonds (m)sk L 509 (8) Laasws Jaa g

How many sigma bonds ( ¢ ) and pi bonds ( t ) are in ethene molecules C,H,

structures shown down?
¢ olal Gl CoH, 0y s drpa sl (1) ghlilsos (0) Leapw Ll 2o oS

H H
Q—Cﬁ_ J-"‘;é) a
Té—,,-/_\¢—>o—

H J\4 H

A. 5sigmaand 1 pi T b1 sleans B
B. 4 sigmaand 1 pi b1 sleas 4
C. 5sigmaand 2 pi b2 slexas 5
D. 4sigmaand 2 pi L2 sleas 4

Chemistry teacher : Sameera Albreiki




sigma (8) and pi () bonds (m)sk L 509 (8) Laasws Jaa g

How many sigma bonds ( ¢ ) and pi bonds ( & ) are in molecules C,H, structures shown

down?
¢ olial el CyH oY) o5 a dana Aiasasall () sbidlss ((0) bessm dasl sy 220 oS

-
H,C\\C,C\\C S
H  H
A. 9sigmaand 1 pi b1 sl 5
B. 4sigmaand 1 pi b1 sl 4
C. 9sigmaand 2 pi b2 sleaan 5
D. 4sigmaand 2 pi b2 5leaw 4

Chemistry teacher : Sameera Albreiki




sigma (8) and pi () bonds (m)sk L 509 (8) Laasws Jaa g

How many sigma bonds ( ¢ ) and pi bonds ( ) are in molecules C,H, structures shown

down?
€ ol Caall CyHg Y s m Ahsna 3355l (1) Glikadsns ((0) Lemms Ty 230 oS

H H
| H
H—C c—c/
Y

H
H
A. 5sigma and 2 pi b2 sleaas 5
B. 7sigmaand 1 pi b1 slean 7
C. 5sigmaand 2 pi L2 sl 5
D. 8sigmaand 1 pi L1 sleas 8

Chemistry teacher : Sameera Albreiki



sigma (8) and pi () bonds (m)sk L 509 (8) Laasws Jaa g

How many sigma bonds ( ¢ ) and pi bonds ( &t ) are in molecules C,H, structures shown

down?
¢ oLl Cpall CH, Y (s a Ahma A5l (m) shidalsss (0) s dal s 230 oS

A. 5sigmaand 2 pi b2 sl 5
B. 7 sigmaand 3 pi L 3 s lenaw 7
C. 5sigmaand 3 pi L3 sl 5
D. 8sigmaand 1 pi b1 sleans 8

Chemistry teacher : Sameera Albreiki




sigma (8) and pi () bonds (m)sk L 509 (8) Laasws Jaa g

How many sigma bonds ( ¢ ) and pi bonds ( &t ) are in ethyne molecules C,H,

structures shown down?
¢ olal el CoH, 0¥ ss 0 dapa (A335asall (1) gL lils)s (0) Leaaw dail sy 22e oS

H-C=C-H

A. 2 sigma and 3 pi b 3 s leas 2
B. 3sigmaand 2 pi b2 sleans 3
C. 4sigmaand 1 pi b1 sl 4
D. 1sigmaand 4 pi L4 5 leaaw 1

Chemistry teacher : Sameera Albreiki




length, bond energy and strength of covalrnt bond 4seabludll dday 11 5 g8 g 43Ua g J g

Which molecules in the table below has the shortest bond length
Q‘\.L:J\J djja )mﬂi 9 sl d).ﬁaj\ uA'&JJ\)M C'_\L‘u);j\ Lﬁi

- JECER-HIA segial
Bond dissociation energy | Molecule
159 KJ/mol F,
243 KJ/mol Cl,
498 KJ/mol 0,
945 KJ/mol N,
A. N,
B. O,
C. F,
D. Cl,

Chemistry teacher : Sameera Albreiki




length, bond energy and strength of covalrnt bond 4seabludll dday 11 5 g8 g 43Ua g J g

Which molecules in the table below has the longest bond length
¢ ddal ) sl g slial Jsaall 8530 ol ciliy sl

o)yl SlSE Al 5N
Bond dissociation energy | Molecule
159 KJ/moal F,
243 KJ/mol Cl,
498 KJ/mol 0,
945 KJ/mol N,
A. N,
B. O,
C. F,
D. Cl,

Chemistry teacher : Sameera Albreiki




length, bond energy and strength of covalrnt bond 4seabludll dday 11 5 g8 g 43Ua g J g

Which molecules in the table below has the weakest bond length
ik ) Canal g olial Jgaall 8530 ) ciliy )

(M) ) Jola [ eginl

Bond length {m) Molecule

1.43x1071° F,
1.21x107H 0,
1.10x107* N,
A. N,andF,
B. O,
Crommbs
D. N,

Chemistry teacher : Sameera Albreiki




length, bond energy and strength of covalrnt bond 4seabludll dday 11 5 g8 g 43Ua g J g

Which of the following is the correct decreasing order of the strength of the covalent bond
for the molecules shown in the table below ?

¢ slial Jsanlly 30 sl iy jall draaluaill dday) )l 5 6l praaial) okl L._p.ﬁjﬂ\}%‘gﬁbu\ggi

(M) Aol s | g
Bond length (m) Molecule

1.43x1071° F,
1.21x1071° O,
1.10x1071° N,
A. (strongest) O, N, > F, (weakest) (caxYl) F,& N, < 0, (ss3Y)
B. (strongest) O, F,> N, (weakest) (caxYl) N,& F, & 0, (s58Y))
C. (strongest) N,=> O, F, (weakest) (an2Yl) F,& 0, ¢ N, (s98Y)
D. (strongest) F,> O, > N, (weakest) (an2Yl) N,& 0, & F,(ss3Yl)

Chemistry teacher : Sameera Albreiki




length, bond energy and strength of covalrnt bond 4seabludll dday 11 5 g8 g 43Ua g J g

Which of the following is the correct ascending order of the length of the covalent bond for
the molecules shown in the table below ?

¢ olial J saally 335l iy all daalocl) ddagh 1) J skl ) (gaebiaill i i) sa b Laa

A e 23l | il

Bond dissociation energy | Molecule

159 KJ/mol F,
243 KJ/mol Cl,
498 KJ/mol 0,
945 KJ/mol N,

A. (shortest ~a891) 0, N, >Cl, > F, (longest JskY!)

B. (shortest 3Yl) F,-> Cl, >0, > N, (longest JskY)

C. (shortest V1) N,-> O, >F, > Cl, (longest JskY))

D. (shortest ~2891) N,-> 0, >Cl, > F, (longest JsbY))

Chemistry teacher : Sameera Albreiki




length, bond energy and strength of covalrnt bond 4seabludll dday 11 5 g8 g 43Ua g J g

Which of the following is the correct decreasing order of the length of the covalent bond for

the molecules shown in the table below ?
¢ slial Jsaadly 32 sl caliy jall dpaalidil) ddayl 5l J ghal raanall skl g il s by Laa

Aol K 23l | gl

Bond dissociation energy | Molecule

159 KJ/moal F,
243 KJ/mol Cl,
498 KJ/mol 0,
945 KJd/mol N,

A. (longest JskY) 0,-> N, >Cl, > F, (shortest _»a891)

B. (longest Jsk¥1) F,-> Cl, >0, > N, (shortest 3Y)

C. (longest Jsk¥l) N,> O, >F, - Cl, (shortest _»adVl)

D. (longest JskY¥) N,-> O, >Cl, > F, (shortest _»ad¥l)

Chemistry teacher : Sameera Albreiki



Naming covalent compound (seabedll S yall e

Which is the incorrect name of the chemical formula written in front of it ?

fdalal 4 gikal) Lilrassl) dapall daaal) e aud) e

N,H, : Dinitrogen tetrahydride

CCl, : Carbide tetrachlorine

SiO, : Silicon dioxide

P,O; : Diphosphorus pentoxide

Which is the incorrect name of the chemical formula written in front of it ?

fdala) 4 gial) LpiliasSl) dipall danal) & ) e

N,H, : nitride tetrahydrogen

CCl, : carbon tetrachloride

SiO, : Silicon dioxide

A
B
C.
D

P,O. : diphosphours pentoxide

Chemistry teacher : Sameera Albreiki




chemical formula for covalent compound (bud QS yal diliassl) dayall

What is the name of the molecular compound S,F,,?
€ S,F o drnall 53 5l (S ) sl L

Decasulfur Difluoride

Difluoride decaselenium

A
B. Disulfur Decafluoride
C
D

. Difluoride diselenium

What is the correct chemical formula that represents the compound Diphosphorus

pentoxide ?
¢ oshedl) AU M) Guald oS pal) Jiad Al dasual) Agibiesst) daual) Le

A. P,0,

B. P,O,

C.P,0

D. PO,

Chemistry teacher : Sameera Albreiki




chemical formula for covalent compound (b GiS jal duilaassl) dayall

What is the correct chemical formula that represents the compound Disulfur

tetrafluoride ?
?C\gﬁﬁ\@\i\éﬂjﬁ@b‘fﬁﬂ\M@\W‘M%ﬁ\w\LA

ry

A. S,F,
B. SF,
C. S,F,
D. S,F

What is the correct chemical formula that represents the compound sulfur dioxide ?
£y Sl ] G S all Jiad A Aasaal) Aibiasl) Al L

A. S,0,

B. SO,

C.S,0

D. S,0,

Chemistry teacher : Sameera Albreiki




acid name gaeal) ol

What is the name of an acid with the chemical formula H,SO,?
$H,50, 4ibasSl aBpa (sl (aeall anl L

A. Sulfuric acid

B. Nitric acid

C. Nitrous acid

D. Sulfurous acid

What is the name of an acid with the chemical formula HCIO,?
THCIO; 4ibieSl) diapa (2l meall ol L

A. Hypochlorous acid

B. Chloric acid

C. Hydrochloric acid

D. Chlorous acid

Chemistry teacher : Sameera Albreiki




acid name gaeal) ol

What is the name of an acid with the chemical formula HCIO,?
fHCIO, 48l 43 ua (o3| el aul Lo

A. Chlorous acid

B. carbonic acid

C. Chloric acid

D. carbonous acid

What is the name of an acid with the chemical formula HNO,?

A. Hydronitric acid

B. Nitrous acid

C. Nitric acid

D. Nitrogen acid

Chemistry teacher : Sameera Albreiki



acid name gaeal) ol

What is the name of an acid with the chemical formula HCIO,?
fHCIO, 48l 43 ua (o3| el aul Lo

A. Chlorous acid

B. carbonic acid

C. Chloric acid

D. carbonous acid

What is the name of an acid with the chemical formula HNO,?

A. Hydronitric acid

B. Nitrous acid

C. Nitric acid

D. Nitrogen acid

Chemistry teacher : Sameera Albreiki



acid name uaaad) ol

Which is the correct chemical formula representing hydrobromic acid?
¢ @Jﬁjj%\@Mg\W\@w\w\u

A. HBr

B. HBrO,

C. HBrO;

D. HB

Which is the correct chemical formula representing hydrochloric acid?
¢ el s Huedl s Jiad Al dapsal) 4L Aapall L

A. HCIO,

B. CIH

C. HCI

D. HClO,

Chemistry teacher : Sameera Albreiki




acid name paaal) auil

Which is the correct chemical formula s gl paea Jidd A davaall Al disall L

represents chloric acid?

A. HCIO;
B. HOCI
C. Hclo,
D. Hcl

Chemistry teacher : Sameera Albreiki



models z 3l

Which of the following models show represented atoms of each specific elements
in spheres of representative color in the phosphorous trihydride (phosphine)

molecule ?

O (Onhsill ) ot gll) 2 puad

A. B.
Space-filling Ball-and-stick
molecular model molecular model
ehall edal (sl 23 gail il 51 z3gas
C. D. H—P—H
PH, |
Molecular formula H
s ol asall Structural formula
awlidl sl

Chemistry teacher : Sameera Albreiki




models z 3l

Which of the following models show represented Colored balls and sticks to represent
the atoms of each element and their bonding in the phosphorous trihydride

(phosphine) molecule ?

raie IS al ) Jidil bae g Digla <l S Bk 8 (e paie JS @il ) Jifiad jedan A0 gz il gl
¢ (O g8l) ) ohen o]l & i (AN (50 (B Lgdalii ) ARy jha g

A. B.
Space-filling Ball-and-stick
molecular model molecular model
ghall edal (il 23 gail iendiaitienn
C. D. H—P—H
PH, |
Molecular formula H
& 31 asall Structural formula
awlidl sl

Chemistry teacher : Sameera Albreiki




models z 3l

Which of the following models show represented Represent the arrangement of The
element symbol, bonds and unshared electrons in the phosphorous trihydride
(phosphine) molecule ?

Ll g A5 gl sualind) dapall Jiad Gajh (8 Cra male JS 3 Jad pedai AUl il o
€ (Cobonsill ) shon sl 4 prish DK 15 o 5 gl b Bjhal g S g

A. 5 B.
H—P—H H— IlD —H
I
H H
Lewis structure Structural formula
C. D.

PH,
Molecular formula

Ball-and-stick
molecular model

Chemistry teacher : Sameera Albreiki




models z 3l

What type of the information is contained in the Lewis Structure for the PH; molecule
shown below?

ol cmall PH, st gl (B 825 sall cilaglaall £ 48 La

H—?—H
H

Lewis structure

A. Colored balls and sticks to represent the atoms of each element and their bonding in the molecule.

B. Represent the arrangement of The element symbol , bonds and unshared electrons .

C. The element symbol and numerical subscripts to show type and number of each atom in the
molecule.

sgoall B5,0 JS a5 mpal el B Y5 jealiall e

D. The element symbol and bonds to show relative positions of atom.
A Al (KL (el a5 ualiall 5

Chemistry teacher : Sameera Albreiki




models z 3l

What type of the information is contained in the space-filling molecular model for the PH,
molecule shown below?

¢ olial Cpaall PH, s ol il gisalll A 8aga gal) Clagleall £ 6 La

o

Space-filling
molecular model

£hall edal syl 23 el

A. Colored balls and sticks to represent the atoms of each element and their bonding in the molecule.

s nl b el ik jemie S @3 Jiad Liac 5 & ke S

B. Colored balls to represent the atoms of each element in the molecule.

C. The element symbol and numerical subscripts to show type and number of each atom in the
molecule.

Gg)ﬂ\‘;zJJJSJJQJ&JJLFﬂW‘e&_)‘\y‘j_)ml_uj\J}AJ

D. The element symbol and bonds to show relative positions of atom.
- A Al (SLeY) (m yal ool 5 5 pealiall e

Chemistry teacher : Sameera Albreiki




models z 3l

What type of the information is contained in the molecular formula for the PH; molecule
shown below?

¢ oLl Cpaall PH, st At jall disall A Baga sal) Clagleall £ 4 La

PH,
Molecular formula
s 3l azwall

A. Colored balls and sticks to represent the atoms of each element and their bonding in the molecule.

s nl b el ik jemie S @3 Jiad Liac 5 & ke S

B. Colored balls to represent the atoms of each element in the molecule.

C. The element symbol and numerical subscripts to show type and number of each atom in the
molecule.

C-L..S)AMéﬁjd&d&}&}%ﬂ%‘eﬁjy‘jﬁw\JJAJ

D. The element symbol and bonds to show relative positions of atom.
- A Al (SLeY) (m yal ool 5 5 pealiall e

Chemistry teacher : Sameera Albreiki




sl A aS) A

What is the name of the Lewis structures for the carbonate ion CO;2 shown in the figure
below?
¢ olia) JOdlly dauagall CO,2 g Sl el sl b quS) 5 ad L

r 72 r 72 F = 72
O :Q: ' $0O:
W s e e ool P C
o O O: O O: O

A. Resonance G

B. Isotopes sl

C. Parallelism &)l

D. Symmetry Jalll

Chemistry teacher : Sameera Albreiki




sl A aS) A

What is the difference between the Lewis structures for the nitrate ion NO; shown in the
figure below?

¢ oliaf Jdlly dauzagal) NO, il ¥ ol (o ) 5 G (AN La

0¢ 0: 20¢
y N < Ne * /N N
207 Yo. 07 Yo! .07 Yo,
A. Change of each structures A JSdaad
B. Position of atoms Gl A A8 5a
C. Position of protons pairs 5 gl )55l a8l e
D. Position of double bond AUl Aoyl )l 280 ga

Chemistry teacher : Sameera Albreiki




sl A aS) A

What is the difference between the Lewis structures for the carbonate ion CO;2 shown in
the figure below?

¢ olial Jdlly dauda gall CO,2 liga Sl oY sl (o ) A (e @A La

i .. . P 53— ; .. B
:(|): :(H): :(l):
C C C
S, o S P !
o 0 o7 0 o, O

A. Change of each structures b JS s

B. Position of double bond AU Aoyl 1) A8 ga
C. Position of protons pairs 5l )5l &8l e
D. Type of atoms Gl &

Chemistry teacher : Sameera Albreiki




dLall) Bas B e il

Which of the following is considered one of the exceptions to the octet rule due to an odd
number of valance electrons ?

Vﬁw\uhgﬂ\w@dﬁd&épjwuw\o& ‘;L\m\wmuu\cg\

H:B:H
H

G-

ey
:?.l\i/(.:.l’
GG

D e -
..\ /..
./ \.F
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dLall) Bas B e il

Which of the following is considered one of the exceptions to the octet rule due to suboctet ?

e il Clilalll Gua AuLal) Sacld CilpUiiia (pa a3 40 (6

A. TR ...
0=N-0:
B. 'F Fi
..\)_(;/..
W N\ .
°F, F
c. e o o o
. Cl-Be-Cl :
D. )
Cl
T NG
. 0. N0
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dLall) Bas B e il

Which of the following is considered one of the exceptions to the octet rule due to
expanded octets?
i gl CLilall) Cupny Ailall) Bac B el (pa 203 Y (o

A. H:B:H
H
B. v
0=N-0
2 R
:?.I\P./(.:.“
&
D.

Cl
o e

Chemistry teacher : Sameera Albreiki




dLall) Bas B e il

Which of the following is considered one of the exceptions to the octet rule due to
expanded octets?
i gl Cililall) sy Ailall) Bacld Cilp i) (pa 223 Y (o

A. ..
= -T“ "
:Q\P/(.:.l'
Jo gt
B. o .
O——N=—0)¢
C.
. CI-Be-Cl :
D. :("].I:
. /hN

4" s

Chemistry teacher : Sameera Albreiki




Lewis structure

s

Which of the following is the correct Lewis dot structures for ammonium ion NH,* ?

(number of valance electron of N=5 and H=1)

(N=5and H=1 3l i i) axe ) € NH,* ageisa¥) Oo Gl 48 puaall a ) g8 L Laa 6l

A. " B. +
H H
(1] L2 2
HSNSH HSN:H
-8 L 1]
H H
C. D. H
L 1 ] L L K
L ] [ ] [ ] L ]
H ..I\l e H H .l\‘ *H
H H

Chemistry teacher : Sameera Albreiki




total number of valance electrons $8Sill <ilig fiSt) sae  laa)

What is the total number of valance electrons available for bonding in phosphate ion in
PO, ?
¢ PO,3> Cliagill &gl B Jayl il 3 A gial) ghlail) culig i<tl) aae Maa) La
(number of valance electron of P= 5 and 0=6) (P=5and 0=6 il il g yiSl) sae )

A.26

B. 29

C.31

D.32

What is the total number of valance electrons available for bonding in ammonium ion in
NH,* ?
NH,* assisad) sl (o ol ll 5 gial) BB g S aae Man) e
(number of valance electron of N= 5 and H=1) (N=5 and H=1 s\l &l yi<) axe )

A2

B.4

C.8

D.9

Chemistry teacher : Sameera Albreiki




total number of valance electrons $8Sill <ilig fiSt) sae  laa)

What is the total number of valance electrons available for bonding in bicarbonate ion in
HCO, ?

¢ HCO, @liga S sl (o8 da) Jll 5 3 gial) ghlail) g gty ase laa) La
(number of valance electron of C=4 ,H =1 and 0=6)

A.26
B. 24
C.22
D.11

Determine the number of bonding pairs of in Lewis structure available for bonding in N,H, ?
¢ NoHy 56 5ad cust dy (8 Aalial) B 2 g1 950 238 Maa) L
(number of valance electron of N=5 and H=1)

A.9

B.5

C.8

D.6
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Lewis structure

s

Which of the following is the correct Lewis dot structures for ammonium NH; ?

(number of valance electron of N=5 and H=1)

(N=5and H=1 sl by yi<) a;c)?NH3ga3A‘2\ ;nggijaad\wj\y@m@i

' H:N:H i H:N:H
: ;
C. D.

tH:N:H
H

:N:H:H
H
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Lewis structure

S

Which of the following is the correct Lewis dot structures for Hydrogen disulfide H,S ?

(number of valance electron of S= 6 and H=1)

¢ H,S Cdugd) A a8 £ g 5t sl Ak maall a8 L Laa

A.

H:S:H:

B.

H: S:H

H:S:H

H:S:H

Which of the following is the correct Lewis dot structures for water H,0 ?

(number of valance electron of O= 6 and H=1)

TH,0 slall gg il (ol Ll maaal) awl) ga (b Laa (g

A.

tH:O:H:

B.

H:O:H

< H:=Os::H

H:0:H
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P Jolds &igas e s A evidence of a chemical reaction

Which of the following does Not show an evidence of a chemical reaction ?
¢ e Jelis ¢igan e s85e (ad L Laa gl

C.

The picture that match to the evidence for formation of solid
Cialoall 3 sall o oS5 e Julal d6Uaall 5y guall
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3alal a1l 3, Symbol of substance phase

Which of the following symbols represents the solid phase of a substance?
¢ 3alall dlial) Alall Jias 4000 ga ) (4

A. (I)

B. (s)

C. (aq)

D. (g)

Which of the following symbols represents sl 4 jlal) Alladl Jo 406N 550 1 !
the gas phase of a substance?

A. (1)

B. (s)

C. (aq)

D. (g)
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3alal a1l 3, Symbol of substance phase

Which of the following symbols represents the liquid phase of a substance?
¢ aalall ALl ANA Jias D ) el

A. (1)

B. (s)

C. (aq)

D. (g)

Which of the following symbols represents the water sclution phase of a substance?
¢ 3alall el J slaall A Jiad 40 ga )l (S

A. (I)

B. (s)

C. (aq)

D. (g)

Chemistry teacher : Sameera Albreiki




dailiass Aalaa 39 Balancing a chemical equation

Which coefficient correctly balance the chemical Tolial Aliall Altaall s JS0 ) 31 Jalaall e
equation below?

2NﬂﬂH{aq] + CaBrﬂaq} -3 CH(DH}Z{SJ s NaBrfan

A. 1l

B.2

C.3

D. 4

Which is the correct coefficient must put in the blank in order the following chemical
equation to be balanced ?
¢ 4y 50 A0 Adlaall ol is §1 ) 8 dnia g ang (53 rasal) Jalaall L
ZAI(S) + ..... IZ(S) % 2A“3(S)

C.3

D.4

Chemistry teacher - Sameera Albreiki




dailiass Aalaa 39 Balancing a chemical equation

Which is the correct coefficient must put in the blank in order the following chemical
equation to be balanced ?
€ 455 30 Al Aslaal) ol s § 1l 8 4mca s cang (31 aal) Jaladl) e
28(s) +305((g) = - S03()

Al

B. 2

C.3

D.4

Which is the correct coefficient must put in the blank in order the following chemical
equation to be balanced ?

€ 453 yo Al Alslall e i $1l b Ao g iy o3 aanal) Jeladll L
Na,PO, +3 KOH — ... K;PO, +3NaOH

Al

B. 2

£ 3

D.4
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&l sill s «delWiadl The reactants and products

What are the reactants and products in the following chemical reaction? A Alesll Jalall 3 mtlally elle il L

2KCIO,,) —  2KCly, + 30,4,

Reactants <elial) | Products =il

(a) KCl , O, KCIO,
(b) 0, KCl ) , KCIO;
(c) KCIO, KCl , O,
(d) KCIO, , KCl 0,

A. (a)

B. (b)

C. (c)

D. (d)
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il sill g <Beliial) The reactants and products

What are the reactants and products in the following chemical reaction? ¢ Shasl delall A palglly cdle linadl L

2Al(s) + 3Bry(g) — 2AIBry(s)

Reactants cllelsall Products =34l
1 AlBr, Al, Br,
2 Al , Br, AlBr,
3 Al , AIBr, Br,
4 Br, AIBr, Al
Al
B. 2
C.3
D. 4

Chemistry teacher : Sameera Albreiki




dailiassl) Adalaal) Jiiai Representing chemical equation

Which of the following chemical equations express : ) Chagl e b A Asbesll e aled) (g
the following description:

A single compound breaks down into new compounds? o Gl ) S8t dalg S e

A. Cls) + Oz(g) — COz(g)

B. CH4(g) + 202(9) =% COz(g) i ZHZO(g)

C. 2Li(s) + 2H,0(I) — 2LiOH(aq) + H(g)

D. NH4NOs5(s) — NzO(g) + ZHp_O(g)
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dailiassl) Adalaal) Jiai Representing chemical equation

Which of the balanced chemical equations below represents ¢ ) Ll Jelall Jid sbial digeall Aliasl Y sladl) L‘gi

the following chemical reaction?

Solid zinc reacts with sulfuric acid solution OsSa di,el) s Jslaa e caliall Guajlal) Jolahy
to produce zinc sulfate and hydrogen gas Gy ougd) Sy G lad) il i€ Jslaa

Zn(s) + HZSO4(aq} — leSO4(aq) + HZ(g}

le(g) + Hz 804(3(1) — ZHSO4(aq) + HZ(s)

ZHSO4(aq) + HZ(g) — Zn(s) T H2504(aq)

ZHSO4(5) + HZ(g) — Zﬂ(g) + HZSO4(S)
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dailiassl) Adalaal) Jiiai Representing chemical equation

Which of the balanced chemical equations below Jelail) Jiai 435 ) gall 4ilaasll ca¥alaall
represents the following chemical reaction? ¢ il Slwesl)
Liquid carbon disulfide reacts with oxygen gas, 3 e Bl oSl Ay S AU Jelds,
producing carbon dioxide gas and sulfur dioxide S 9 OgeSh As] B ezl « CmaSY)
gas. ¢ st L) A

A.CSyg+30y) > COyg+ 250y

B. CO,p+ 250, > €Sy + 30,4,

C.CS5)+ €O, > 30,4+ 250,

D.CS,+30y, =2 €Oy, +250,,
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dailiassl) Adalaal) Jiiai Representing chemical equation

Which of the following balanced chemical equations ¢ il Lol Jolill B A0l 30 )sall Adleasl =i aladll .h_a,-i

represents the following chemical reaction?

Solid aluminum reacts with bromine gas to produce GSul gyl e ae aliall 5._9_-_".-..:‘3’1 el
solid aluminum bromide abeall E.}_mfz” Ly

A. 2Al., + 3Bry,, — 2AlIBry,,

B. ZAI(EJ + Erz[ﬂ_q} — ZA].HI':;[S}

C. 2AlBry,, — 2Al,, + 3Bry,

D. 2 MEI‘_’;{S} —* ZA].,::SJ + Brzt:g]
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ic stie Jolas Jalu gl 8 ddliae Jelii Cag ke Ja 8 st of Sy ) Al cdlelall e daliadl ¢ 53Y)
different type of chemical reaction that can occur under different reaction conditions and
in various reaction medium

What type of reaction does the following chemical PALIEN AAe Nl Aliladll dhial ol Jelill ¢ 4ile
equation describe?

2”“”3(5} — 2”“{5] =+ 3”2(3}

A. Synthesis reaction

B. Decomposition reaction

C. Combustion reaction

D. Displacement reaction
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ic stie Jolas Jalu gl 8 ddliae Jelii Cag ke Ja 8 st of Sy ) Al cdlelall e daliadl ¢ 53Y)
different type of chemical reaction that can occur under different reaction conditions and
in various reaction medium

Using the figure below, ‘ colial Al Liadiid
What type of chemical reaction does falalaall aliad Al el Jelddll ¢ gl
the equation represent?

2Nals) + Cli@ —  2NaCl(s)

A. Combustion reaction

B. Decomposition reaction

C. Synthesis reaction

D. Displacement reaction
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ic stie Jolas Jalu gl 8 ddliae Jelii Cag ke Ja 8 st of Sy ) Al cdlelall e daliadl ¢ 53Y)
different type of chemical reaction that can occur under different reaction conditions and
in various reaction medium

Which of the following diagram represents a synthesis reaction ?
oSS Jelar Jiay 4000 JISEY)

@+ = @@
@@ = @+®

8+ 0 =—> ®9+®

" @ + ©@p = @o + OB
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ic stie Jolas Jalu gl 8 ddliae Jelii Cag ke Ja 8 st of Sy ) Al cdlelall e daliadl ¢ 53Y)
different type of chemical reaction that can occur under different reaction conditions and
in various reaction medium

Which of the following diagram represents a single displacement reaction ?
Sedal Jlagin) Jelin Jiey 401 JKEY)

@+ = @@
@@ = @+®

8+ 0 =—> ®9+®

> @+ Qo =» @0+ 0@
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ic stie Jolas Jalu gl 8 ddliae Jelii Cag ke Ja 8 st of Sy ) Al cdlelall e daliadl ¢ 53Y)
different type of chemical reaction that can occur under different reaction conditions and
in various reaction medium

Which of the following diagram represents a synthesis reaction ?
oSS Jelar Jiay 4000 JISEY)

A. NH4NO3(s) — N,0O(g) + 2H,0(g)

B. cCuls) + 2AgNO;(aq) — 2Ag(s) + Cu(NO;),(aq)

C. KCN(aqg) + HBrlagq) — KBr(ag) + HCN(g)

D. CaO(s) + CO,(g) — CaCOsls)
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ic stie Jolas Jalu gl 8 ddliae Jelii Cag ke Ja 8 st of Sy ) Al cdlelall e daliadl ¢ 53Y)
different type of chemical reaction that can occur under different reaction conditions and

in various reaction medium

Why do automobile safety air bags inflate rapidly as

sodium azide pellets decompose?

ol Ao s ) 8 Aloel) Adladl ol F L) 3 ) e

?P_g:'."ng.d- | mj x;'lln,'a_*_;n Slad

A. Nitrogen gas production

Cra il le z )

B. Solid Sodium production

lall o g guall L)

C. Water vapor production

sLall Ay L)

A. Liquid Nitrogen production

Bl Cpan 5 il L)
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ic stie Jolas Jalu gl 8 ddliae Jelii Cag ke Ja 8 st of Sy ) Al cdlelall e daliadl ¢ 53Y)
different type of chemical reaction that can occur under different reaction conditions and
in various reaction medium

-2

CH, + 20, —» CO, +

A. Synthesis reaction

B. Decomposition reaction

C. Combustion reaction

D. Displacement reaction
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ic stie Jolas Jalu gl 8 ddliae Jelii Cag ke Ja 8 st of Sy ) Al cdlelall e daliadl ¢ 53Y)
different type of chemical reaction that can occur under different reaction conditions and
in various reaction medium

What is the type of reaction that oxygen combines 2o CpaaSYI 4 2a%s A Jelidl) ¢ g L
with a substance and releases energy in the form Te guin s 5 )| ja by sea A Al Llla o) gall g2l
of heat and light?

A. Synthesis reaction O oSl Je L&
B. Decomposition reaction SKail) Jelas
C. Combustion reaction G iaY) Jelss
D. Displacement reaction Jlaiay Jelas

Chemistry teacher : Sameera Albreiki




* gaay) Jladul) adle sl i) ¢ The products of single replacement reactions

Using the activity series shown below, bl ALl bl Alds Gassd

Which of the following reaction will occur? faa Adull clte i)

Activity Series bl aluls
of Halogens Sl gl

i aJ) 5% Most
— Elﬁlzr:i?lz :%| 1 Lif-:“ ac‘t)isve
Bromi 9! a
—-ﬂorgir:éne T Lﬂ"& :‘c!taiite
A.
E{E‘] + FEIE{EQ} — Baa
B. | MnB
2(S) + Mn I2(aq) = ***
Brg([] + CDCIE(aq] =
D.

CIE{S} + SFFEI{:-EI.-‘.'[] e
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* gaay) Jladul) adle sl i) ¢ The products of single replacement reactions

Using the activity series of metals,

Which of the following reactions does not occur?

Most SIS
active .o

Least ¥\
active .G

¢ Clall Al bl Al Gt

¢ Gt o A edlelall (o

METALS RPN
Lithium -~
Rubidium e Tk
Potassium AP T |
Calcium PP L [
Sodium PP |
Magnesium -l
Aluminum appndl
Manganese i
Zinc QUSSR ¥ A
Iron oy ik
Nickel Ni S0
Tin PSRN
Load Pb et
Copper Cu ’E"-_
Silver Ag '
Platinum s W
Gold Au

A. Cugs + AgNO3 ()

B Y
. All(s:} + AgNUE(aq] —

C. Pb(s) + AgN'Og(aqj —

D. Nl(sj + AgNOS{:aq) —
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* gaay) Jladul) adle sl i) ¢ The products of single replacement reactions

Using the activity series of metals, which of the following reactions will occur?
¢ Coass 400N cle il o ¢ ol a0 SlaSl) Lol dlule Laddiue

: METALS RPN
Most s5¥ Lithium p oeied
active Ll Rubidium PN
Potassium PR . |
Calcium pra— LY
Sodium PP |
Magnesium PSS
Aluminum oot !
Manganeseo A
Zinc a0 Y
Iron -~ '
Nickel Ni sz—
Tin PN |
Copper C(Cu -
Silver Ag PN
Least ¥ Platinum e NI
active L. Gold AU ST

A. 2Ag + NiClyy, — e

B. 2AU + NiClyy) = eeevrrreees

C.Nig + CuClyy — e

D. 2Ag; + CUClyy —> v
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* gaay) Jladul) adle sl i) ¢ The products of single replacement reactions

Using the activity series of metals, which of the following reactions will occur?
¢ Coass 400N cle il o ¢ ol a0 SlaSl) Lol dlule Laddiue

e METALS RPN
Most 53 Lithium p oeied
active Ll Rubidium PN T
Potassium PR . |
Calcium pra— LY
Sodium PP |
Magnesium PSS
Aluminum oot !
Manganeseo A
Zinc a0 Y
Iron Ay okt
Nickel Ni groey |
Tin Pb PN |
Lead — 2
Copper Cu _,.L:}’
Silver Ag ._%“'
Least ¥ Platinum ey S 1
active Lo Gold AU ST

A. 2Ag + NiClyy, — e

B. 2Au, + AgCly, — e

C.Cuy + NiClyyy — e

D.Cugy + AgCly — e
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* gaay) Jladul) adle sl i) ¢ The products of single replacement reactions

Using the activity series of halogens,

which reaction between halogens

and halide salts will occur?
As¥
Lo Lo

Ja¥
Uslis

Most
active

Least
active

¢ Cilimllgl Sl Lalal) Al Lardni

fnane clallell 2y cilimsllell o Jelis

Activity Series blw alely
of Halogens Sl iyl
Fluorine F sedal)
Chlorine Cl slsd)
Bromine Br pasdl
lodine | 392!

E..--

—

A.  Bry(l) + CoCls(aq) — CoBra(aq) + Clx(g)

B. Cly(s) + SrFx(aq) — SrClx(aq) + Fa(g)

C. 1(s) + MnBra(aq) — Mnlx(aq) + Bra(g)
e

P k-

E(g) + Felx(aq) — FeFa(aq) + Ix(l)
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* gaay) Jladul) adle sl i) ¢ The products of single replacement reactions

Which of the following single-replacement reactions will not occur?

1 Potassium k (Most reactive metal)
Sodium Na
Calcium Ca
Metals more Magn_efSium Mg
reactive than | Aluminium Al
Hydrogen Zinc Zn
Iron Fe
Tin Sn Decreasing
v Lead Pb chemical
[Hydrogen] [H] reactivity
Copper Cu
Metals less reactive| Mercury Hg
than Hydrogen Silver Ag
Gold Au

(Least reactive metal)

A. Ca(s) + ZnCl,(aq) >

B. Al(s) + FeCl,(aq) >

C. Cu(s) + NaNO; (aq) >

D. zn(s) + CuCl,(aq) >

Chemistry teacher : Sameera Albreiki



The solid substance produced during a chemical reaction in a solution is called ..................

A. a precipitate

B. a gas

C. a water molecule

D. A Spectator ion.

The ions that do not participate in the reaction A ) Aol b jedai Y g Jelih LS Y Al s g
and are not shown in the net ionic equation eeeene e renenee g A8 el
are called..............

A. Central ions .

B. Spectator ions.

C. netions

D. complex ions

Chemistry teacher - Sameera Albreiki




A jdial) clig¥) 2aa3  determine spectators ions

What are the spectators' ions in the balance chemical equation below ?
Li,SO4(5q) + Ca(NO3), () =  2LINO, ., + CaSO,,

A. Li*, NO;-

B. Ca>*, NO;-

C.Li*, SO,

D. Ca?*, SO,

What are the spectators' ions in the balance chemical equation below ?

AlCly,, + 3NaOH,,, = Al(OH);, + 3NaCl_,

A. A3t , OH

B. Al3*, CI

C. Na*, OH"

D. Na*, CI
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da iiall clig¥) Baa3 determine spectators ions

What are the spectators ions in the balance chemical equation below ?

ABNO3yg) + KClg) > AgCly) + KNOy

A. Ag*, NO;

B. Ag*, CI"

C.K*, NO;

D. K*, CI

ALl 4y gl Adalaa 4US Writing complete ionic equation

What are the complete ionic equation in the balance chemical equation below ?

AgNO;(q) + KClipq > AgCly + KNOjy

A. Ag*{aq] +EI'{EQ}% AgCIIS]

B. NOE'{aq} * K+{aq} > KNOE{aq}

C. A8'(aq) +NO37sq) + K'iag) + Cliag™>  ABCl) +NO5'q) + Ko

D. AgNO;,q) + KCliyq) 2 A8 + Cliggt KNOs(,
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48 ya 44 g3l AUdlaa 4,US Writing net ionic equation

What is the net ionic equation for the f A Sleasl Jelill 48 pall d ) Adoladli L
following chemical reaction?

Bﬂ(NU‘g}z{ﬂq} + Nﬂztﬂg{aq} — Bdcogl + ZNENOE{aq]

A. Baggq} i CD;EE,,:” — BaCO3
B. N _

ZNE{aq] + ZNOEIaq] —3 ZNHNUE(an
C.

Balt, + 2NO3 o) + 2Naf ) + CO3,q) = BaCOs(s) + 2NaNOj s

Balyy) + 2NO3(,q) + 2Na(,q) + CO3q) = Na,CO3(5) + Ba(NO3)2(aq)
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slall 0585 Al ilelill Reactions that forms water

Why in reactions that forms water no evidence of chemical reaction is observable?
¢ e Jelin dhgan e Qs of Aaadle Wiy Y elall o 5<5 il codle i) d 13l

A Because water is colorless, odorless, and already makes up most of Jalaall 3uaS alaea (S50 g4 aaily Yy al ool Y oLl oY

the solution
B. Because the number of solvent particles decreases i ol cilesea 20 oY
C. Because the number of solvent particles does not change [EYFCTR REPICOA IRCH DRV YA
D Because the water becomes colored, odorous, and already makes S e JEY) g3al) g dadls Gol 53 e slall o
up least of the solution Jalaall
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48 ya 44 g3l AUdlaa 4,US Writing net ionic equation

When a chemical reaction takes place between
the solutions of Na,8 and Mg(NO;),,
a precipitate of MgS is formed.

What is the net ionic equation?

Mg(N03)2 ] Nazs L“;‘}‘IM L..JT.L-‘ (“f‘\:hn:ls dsu‘.'! \ilj._".:. AT

- MgS (e ) S

¢ ddyall oY) Aaladll L

A. Nafsq) + NO3(aq) = NaNOsag

B. Mg(aq] T No?j(aqj - Mg(NOE)E[aqj

C. Mg(NO3)zaq) + NazSiaqy = MgSs) + 2NaNOg g

2_
D. Mg(aq) + Staq) ~ M8S(s)
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93 S84 Jslas A solution of an ionic compound

Which of the following is a solution of an ionic compound? ?%J_ET S Jalne g8 _‘._L Las .__gi

A_ Sucrose solution DSl Jalaa
B. Hydrogen chloride solution Camg pugll 23l Jolna
C Ethanol solution Jeily! Jelaa
D Sodium chloride solution psdgeall 1)5lK Jolase
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dilal) Jillaal) & cdleldil) £) 63l Types of aqueous solutions

What happens when an aqueous sodium hydroxide solution Sl agisiall 2y Jolas 7 e Ean Dl
is mixed with a solution of copper( Il) chloride? € (1) o) 2ylS Jolas s

reactant
Jelaze

NaOH(aq)
Jue L
reactant [
products
A. Solid copper(Il) hydroxide precipitates out of the solution Joladl e aleall (M) Jelasll 2ua€ poud s i
B. Solid copper metal is produced bl alasll 38 )
C_ Chlorine gas is released during the reaction delall ol 8l sl gl

. No visible reaction occurs e dolt Sase Y




Z 52l Jlatu) edlelds &5l 3iThe products of double replacement reaction

The addition of hydrochloric acid to two test Laaasl jladl ol SlijglSg yngll vaas ddlial oag
tubes containing solutions of either sodium e AV NaCl gl 0)dl< e Jolae o (oo
chloride NaCl or silver nitrate AgQNO, causes ol dy sSs 1) AGNO; Ladll il i Jglaa

a white precipitate.

Which of the following statements is correct?

T AGNOso dsias

— NaCl s Jsaa

Solution of AGNO: - & Solution of NaCl
- 1
A. The precipitate will form in both test tubes number 1, and 2 251 &) Omss) DS (Al ) () S
B. The precipitate will not form in both test tubes number 1, and 2 251 ab ) GV S 8 cand N 0 oS5y (]

C. The precipitate will form in test tube number 1, and no precipitate will be formed in test tube number 2

2 a8 sl (Al OsSE Ol ¢ 1 a8 Qs A Il () Shs
D. The precipitate will form in test tube number 2, and no precipitate will be formed in test tube number 1

1 a8 s () OsSh Ol € 2 @) ¥ (A& Gl I () sSau
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E93 34l Jladiad) <o\l =) oiThe products of double replacement reaction

The two substances in the figure below react to dagl) Mg Ll slial J<all Oagagall Glaalall Jelam
produce solid silver iodide and aqueous solution of casdilll Gl Jelaay bl

? el Jelill 138 Chay b Lae !

lithium nitrate.

Which of the following describe this chemical reaction?

Lil(aq) AgNO;(aq)
A. Single replacement and forms precipitate Gy 5S0y solal Jlagl
B. Double replacement and forms gas Ol OsShe zedie Jlagdl
C, Single replacement and forms water sla (sShg (gala) Jlasil
D_ Double replacement and forms precipitate

) 0555 maaie Jlag)
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53 @S 1 Jslas A solution of an ionic compound

Which of the following statements is incorrect regarding Ol lats Lad damia e 40N &yl -L_gi
the solubility of hydrogen chloride HCI in water? felall & HOI (agyngll 26K

A Hydrogen chloride produces hydrogen ions o Sl Jslaall 8 cang gl 26l
and chloride ions in aqueous solution 1)l gy g el Clig
B_ Hydrogen chloride is molecular compound e Oy (g yugll 2 )glS
C. Water is the solvent and hydrogen chloride is the solute Gl A ng Hugll 3)alg Cudall ga Ll
[D. Hydrogen chioride is an ionic compound sl e Cpng yugll )9l
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dilal) Jillaal) & cdleldil) £) 63l Types of aqueous solutions

What is the product of the following chemical reaction that causes aaadle ae G (sl Gl Slasl) Jelall z36 L
no visible evidence to occur? Caigan e e dib o

HBr(aq) + NaOH(aq) — H,0() + NaBrlaq)

, H,0(l) + NaBr(aq)
NaOH(aq)

. H,0O

. HBr

A
B. NaBr
C
D

NaOH
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48 s 44 o) Adalaw 4,US Writing net ionic equation

When a chemical reaction takes place between
P Na,SO, s Ba(NO;), st i e Jolis Eian i

the solutions of Ba(NO,), and Na,SO,

. BaS0, (o )y (s
a precipitate of BaSO, is formed. *

What is the net ionic equation? ?48 ) d1ig) dlalaal) La

A. Naa,q) + NO3(,q) = NaNO3(,g

B. 2+ 2—
Ba(aq) +50%aq) BaSO4(S)

C. Ba(NO3)z(aq) + NazSOyaq) — BaS0, s + 2NaNOj(aq)

D. Bafgq) + NO3(,q) = Ba(NO3)23aq)
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dilall Jallaal) & cdlelddl) g1 43} Types of aqueous solutions

Which of the following does not happen when an aqueous sodium asdgeall 2o 08 Jolaa 730 die Sama Y L Las L_gt
hydroxide solution is mixed with a solution of copper( Il) chloride? ¢ (1) palaidll 25l Jglaa aa Sl

2NaOH(aq) + CuCl,(agq) — 2NaCl(ag) + Cu(OH),(s)

A. Solid copper metal is produced clall Galaill 18 iy

B. Solid copper (IlI) hydroxide precipitate out of the solution
Jstaall o liall (1) el 2S5 Hua o i

C. The Na*ions and ClI- ions remain dissolved in the solution
Joladl 8223 CF 5 Na* cligl i

D. The Cu?* ions and OH- ions react to form precipitate
sl y &8l OH- C'_\U)..gi & Cu?t a_ahﬁ\ Je s
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